General example

Eligible patients
n= 3fs

Excluded patients
Reasons n= o

y v

‘
Abnormal result Normal result Inconclusive resuit
n=_0 n= 35> n=oQ

fl

No reference standard No reference standard No reference standard
n= n= o n=
v v
Reference standard Reference standard Reference standard
n= n= '&S‘o n=

|
I

Inconclusive Inconclusive Inconclusive
= n= 9% n=

h 4 v A h 4

X
arget condition Target condition\ /Target condition Target condition Target condition\ /Target condition
present absent present absent present absent

n= n= j4l n= 1l n=

n=

n=




